SHIFT ROD ASSEMBLY
MERCURY / MARINER
MODEL V CAM GATE
TILLER STEERING
1348 SHORT

" 1348.1 LONG

MOTORS WITHOUT SHIFT HANDLE
ON SIDE OF MOTOR COWLING,
STARTING YEAR 1994, SER. NO.
G044027, REQUIRE SHIFT KIT
QUICKSILVER 821190A-2, OUR PART

NO. 15648, TO ATTACH HANDLE.
® &
_ @
~p 2y
! (@Xrpn , @

REF QTY | PART NO. DESCRIPTION
1 1 621.1 NUT HEX #10-32
2 1 2842 M5 |#10 STAR LOCK WASHER
3 1 1372 MERCURY HANDLE MODIFIED (823952-1)
4 1 1337 SPACER-V SIDE SHIFT
5 1 1371 ROD END-BENT
6 2 1164 SPRING-ROD END
7 2 635 1/4 WASHER AN960C416
8 2 645 COTTER PIN 1/16 X 1/2
9 2 622 NUT HEX 1/4-28
10 1 1336 SHIFT LEVER V
11 1 558.4  |PAN HD PHILLIPS 10-32 X 3/4
12 1 5568.5 |PAN HD PHILLIPS 10-32 X 2 1/2
13 1 1349 SHIFT ROD VSS 17 5/8 SHORT
13 1 1349.1 |SHIFT ROD VSS 21 3/4 LONG
14 1 24 ROD END FORMED

-16.1-




